Math 1251: Worksheet #7 Winter 2018
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1. Use your calculator to compute the following to 6 decimal places of accuracy.

(a) Use the midpoint rule with N = 8 subintervals to estimate ff ldz .
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(b) Use the trapezoid rule with N = 8 subintervals to estimate flz ldr .
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(¢) Apply Simpson’s rule with N = 8 subintervals to estimate ff ldz .
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(d) Find the true value of |’ 1dz.
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2. Estimate the monthly payment on a $200000 mortgage amortized over 25 years at an
interest rate of 4% by viewing it as an outlay of cash at a constant rate under continuous

compounding.
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3. A large city has a population density of approximately 40000e~%/2 people per km? at a
distance of z kilometres from the city centre. Estimate the total population of the city.
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